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Instructions :
(i)  There are 28 objective type questions from Question No. 1 to 5.

Each question carries 1 mark.
(i) Question No. 6 to 12 are very short answer type questions.

Each question carries 2 marks. Word limit 30 words approximately.
(iif) Question No. 13 to 16 are short answer type questions.

Each question carries 3 marks. Word limit 75 words approximately.
(iv) Question No. 17 to 20 are long answer type questions.

Each question carries 4 marks. Word limit 120 words approximately.
(v) Internal options are given from Question No. 6 to 20.

(vi) Draw neat and clean labelled diagram wherever required.
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1 " faweT grey fafag 1%6=6
(i) YUY (emgadiel) ® fhay wHEM Bd § 7 |

(@) n (sffm) (b) 2n (fEfer)
(©) 3n (RBrfra) (d) 4n (Fgifm)
(i) 99 ¥ orafdte SevedHE B T HE A E?
(a) e (b) o ad
(©) ﬁr‘ﬂm (d) afryoram

(iii) mwmm(mmm 3TRarIdT) ® Tefeftieh ar el &1
uﬁwﬁaﬁw%lﬁwﬁmﬁﬁﬁ?—m@ma@éﬁ?%m%?

(a) GGGy (b) AAG
(c) GAAN (d GUG
(iv) R % FER BT BT & Prf s it Bvs quT g S BT § -
(2) . e (b) wHTE farg
(c) - EriiET (d) EmreifrET |
(V) U S saamrae o e, sppelt & faame fea smar 9
Tar 7
(a) %b—cﬁr an%m (b) Haw HY (SMHNR)
(c) Heicin S ST (d) SmE9T X HI
(vi) HTEHITES SIETT & —
()  wRSifemT (b) wEHfT
(c) eI d) euHEE

Choose and erte the correct option:
(i) How many chromosomes are present in endosperm (Angiosperm)?

(@) in (Haploid) (b) 2n (Diploid)

(c) 3n (Triploid) (d) 4n (Tetraploid)
(it) Persistent nucellus in the seed is known as :

(a) Hilum (b) Tegmen

(c) Chalaza (d) Perisperm

(i11) In sickle cell anaemia glutamic acid is replaced by Vahne
Which one)of the following triplet code is for valine? !

(@) GGG (b) AAG
() GAA (@) GUG
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(iv) In malaria, the product released by mosquito into blood that causes .

chill and fever!
(a) Haematin (b) Schuffner’s dots

(c) Haemozom (d) Haemotoxin
(v) In agarose gel electrophoresis, DNA molecules are reparted on the

basis of their:

(a) charge oniy (b) size only :
(¢) volume (only (d) charge and shape .
(vi) Mycorrhiza is an example of :
(a) Parasitism (b) Commensalism
(©) Mutualism (d) Decomposer
2 R @At @ offwd s aw @R | 1x6=6
() UH wvwa gew (Wiftewe) & owery (sim) % @ifmg B9 @ i @i
HES B

(i) @@Q seed (R Riffn) & Sroao aﬂ‘;ﬁqﬁrﬁmwﬁlﬁm
W%Eﬁaﬁﬁqﬂmwwm%m FHEd 2|
(i) wfees ufrs dF&f@r (Taud) 3o = 1 ¥ufEfia @

(w)l,:nEﬁsTgi%Ffﬁ @m%a“rtr&qaasrgﬁﬁﬁﬂﬁw
ST B i)
(V) W@WWQWWWI#W@%%W

W1 T BT B
(vi) Wﬁﬁamaaa%swaﬁﬁﬁmaﬁ DMy é:;-am%l
Fill in the blanks with correct answer :
(i) The process ‘of release of ovum from a mature folllcle is called

(i) DNA finger prmtlng involves identifying differences in some specific
regions in DNA sequence called as

(111) Lactic acid bacteria convert milk into :

(iv) Proinsulin confalns which is not found in mature insulin.

(v) is caused by mutation in gene related to the adenosine
deaminase enzyme.

(vi) The green plant in the ecosystem are called
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1x6=6
3 99 / Imw™ fafew

() 7 ofEys ¥ ‘ e

(ii) %ﬁﬁﬁﬂrnﬂitﬁﬂﬂﬂmm%l‘

(iii) R e v % g @ e E

(iv) & SN B A S A T B

(V) 9% 3ECHE @ o fafear B d

(vi) s, ’?rﬁmm el eurd ARG @ ergrehu (B2t Gm%“ﬁ)
& U @ Y1 B @ ¥

Write True / False :

(1) Humans’are oviparous.

(ii) Syphilijé;"fis a sexually transmitted disease.

(iii) Lichens cannot be used as industrial pollution indicators.

(iv) Genes ‘that cause cancer are called oncogenes.

(v) Each ihferferon has its own speciality.

(vi) Clarias éariepinus for aquaculture purposes is posing a threat
to the lihidigenous catfishes in our rivers.

4 W T e e o 1x5=5
(3{7 I ‘El’
() BT A @ =, aE T T
(i) GETTHE S (b)  siRemSST
(iii) T forhamEe (c) Harew
Gv) @i m d) s
(v) PBR322 (e) BIMdR® UMD fohar

() @ T B

Match the correct pair and write :

Al ‘B’

(1) Corona radiata (@ z,yand a

(11) Structural genes (b) bone marrow

(1)) T-Lymphocytes (c) vectors

(iv) Competition (d) ovum

(v) PBR322 (e) detrimental interaction
(D ARBCs
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5 Uh g A s fafedy 1X5=3
(i) ZIFT @1 g 9m fafad | i
(i) P 3 o A A B @ aae frd g -
(iii) W N EEbET U fFE Yer gew ghiter gae Hid E 7
(iv) WWWWW#{BVWW@HW%I
(V) ‘g &t whsT foRE el wrar 27
Write answer, in the one sentence :
(i)  Write the full form of ZIFT.
(i) What substances did Miller take in his exper1ments‘7
(iii) How do cytokine barriers provide innate immunity in humans?

(iv) Write down the name of bacterium which produces 'Bt' toxin.
(v) “What is called 'lungs of the earth'?

6 Q%eﬁ@%mw%?swqw%ﬁgql ¢ | 2

What is ammocente51s ? Give its significance.
Faar / OR

TH LA w%?sﬂé&g{&ﬁmaﬁﬁrﬁaql
What is MTP? Write its safety periods.

7  fag SAfEds 1 g7 U Sareu A » 2
What is po’ijr;l't mutation? Give an example.
sy / OR
Wwaﬁﬁ%mwﬁ?aﬁwﬁﬁgaﬁﬂﬁuwmlw‘r?

The human -male never passes on gene for haemophilia to his son. Why?

8 WWW%?Waﬁm | 2

What is adaptive radiation? Give an example.

; , s / OR
el e @t fafa \C
Write Hardy-Weinberg principle. \

9 W%@aﬁmﬁaﬁﬁmﬁwzﬁrww%? 2
Why are cynobacterla considered useful in paddy fields?

siyar / OR

ferr e B fom A E
Why does Swiss cheese have big holes?
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11

12

13

14

AR (Ve eiftrey) fRd wed ¥ 7
What is biopatent?

d¥ar / OR
GTEU I1Ed /1§ 7 39h 9§ ffau

What is golden rice? Write about it.

TSI U9 & MY &R o ¥ 7
What do you understand by population density?

I / OR
BIHTET 1 IR HITT Ta T Sae0 AR |

Define camouflage and write an example.

BIC WiZ {58 FHed €7 WG & UH ee wWie &1 AW fhaw)
What is hot spot? Write the name of a hot spot in India:

@ / OR
Sa-fafqear & @9 sEvas gedt % A R

Name the three important components of bio—diversity

Www%wmﬁﬁwéﬁ%?waﬁww%@qmw 3

I Reg By B

Why are the human testis located outside the abdominal cavity? Write the

name of pouch in which they are present.

{9t / OR

Eﬁwaaa%aﬁ@a B BT WW THithd = s9=w)

Draw neat and clean labelled diagrammatic sectional view of the female

reproductive ' system.

Wmﬂ%?%&ﬁamm|

What is monohybrid cross? Explain with the help of line diagram.

@ / OR
WW%WW%?WWW@l

What is codominance? Explain with example.
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¥ %wﬁwmmﬂﬁﬁﬁw%@m

Writ ;
ite three differenceg between Biopesticides and Chemical pesticides
L ST/ OR
RIRIRIE s o oo g iR fos s
Draw' neat ang clean labelled diagram of Bio gas plant.
16 Wwﬁﬂﬁgﬂ%ﬁmm‘fﬁm%?maﬁml 3

Why pyramid of energy is always upright? Explain it.

g A / OR
W,WWWWWQ@W%mWﬁwwaW
Ui BT |

Describe the interrelationship between productivity, gross primary
productivity and net productivity.

17 Hg@ﬁwﬂqamﬂ%ﬁww%éﬁawwaﬁlﬁmaﬁ%am 4
Foh1 SBTC b1 HIfTehT fRreTotet Tt 2hem & 7 3 < oo B et F a3 arh
HXaIS % T gqEn) '

Difféjrentiate between microsporogenesis and ‘megasporogenesis.
Which type of cell division occurs during these events? Name the
structures formed at the end of these two events.

(75 Y / OR

Draw neat and clean labelled diagram of a typical anglosperm ovule.

18 Aot s Ta ¥ T g @ 3g oy v b A =S wd Ay 4
AT T % G B or e a7
How did Hershey and chase differentiate between DNA and protein in
their ‘experiment while proving that DNA is the genetic material?

o sy / OR
DNA' il B9+ &1 & 7 3Ha! fohaniafy v Suaifiar &1 fafaw)

What is DNA finger printing? Write its mechanism and application.

/ 1-0771_A | 7 O OO



19 #Hoif@Er ueelie) & sfeq =56 &1 omidy fsgor @i

. . ; : : ite
Draw a diagrammatic representation of the life cycle of the malaria parasit

dq¥ar / OR
ey < LERE
() =a H A
(i) TSH ‘& Mo &1 A1
(iii) TEw & dam WX s N
Describe AIDS disease on the basis of the following pOlrltS
() s Eulls name of AIDS ‘
(i) Name of AIDS pathogen
(iii) Any; four measures to prevent AIDS

20 ifeisT =faar sifHfshan @1 s auie Hivm |

Describe the polymerase chain reaction with diagram.
& s / OR

Wwwmavhﬁw%gaﬁ%wmwa%m—

(i) 9fde~aq T~IEH @l g

(il) 999 Gfda-a TUSGRITST &1 A9

(iii) ';ri%lavuﬂ USIIgH 81 3~ [9qaq & YehiX

Describe the Restriction enzyme on the basis of the followmO points :

(i) Definition of Restriction enzyme.

(i1) Name the first Restriction endonuclease

(iii) Types of cleavage produced by Restriction enzyme

o
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